Article

# On the Existence of Self-Similar Solutions in the Thermostatted Kinetic Theory with Unbounded Activity Domain 

Carlo Bianca ${ }^{1,2, *}$ and Marco Menale ${ }^{3}$ (D)<br>1 Laboratoire Quartz EA 7393, École Supérieure d’Ingénieurs en Génie Électrique, Productique et Management Industriel, 13 Boulevard de l'Hautil, 95092 Cergy Pontoise, France<br>2 Laboratoire de Recherche en Eco-Innovation Industrielle et Energétique, École Supérieure d'Ingénieurs en Génie Électrique, Productique et Management Industriel, 95092 Cergy Pontoise, France<br>3 Dipartimento di Matematica e Fisica, Università degli Studi della Campania "L. Vanvitelli", Viale Lincoln 5, I-81100 Caserta, Italy; marco.menale@unicampania.it<br>* Correspondence: c.bianca@ecam-epmi.com

Citation: Bianca, C.; Menale, M. On the Existence of Self-Similar Solutions in the Thermostatted Kinetic Theory with Unbounded Activity Domain. Mathematics 2022, 10, 1407. https:/ / doi.org/10.3390/math10091407

Academic Editors: Francisco Chiclana, Sergei Petrovskii, Matjaz Perc, Antonio Di Crescenzo and Marjan Mernik

Received: 24 March 2022
Accepted: 20 April 2022
Published: 22 April 2022
Publisher's Note: MDPI stays neutral with regard to jurisdictional claims in published maps and institutional affiliations.

Copyright: © 2022 by the authors. Licensee MDPI, Basel, Switzerland. This article is an open access article distributed under the terms and conditions of the Creative Commons Attribution (CC BY) license (https:// creativecommons.org/licenses/by/ 4.0/).


#### Abstract

This paper is devoted to the mathematical analysis of a spatially homogeneous thermostatted kinetic theory framework with an unbounded activity domain. The framework consists of a partial integro-differential equation with quadratic nonlinearity where the domain of the activity variable is the whole real line. Specifically the mathematical analysis refers firstly to the existence and uniqueness of the solution for the related initial boundary value problem; Secondly the investigations are addressed to the existence of a class of self-similar solutions by employing the Fourier transform method. In particular the main result is obtained for a nonconstant interaction rate and a nonconstant force field. Conclusions and perspectives are discussed in the last section of the paper.


Keywords: kinetic theory; complex system; nonlinearity; Fourier transform; IBV problem

MSC: 35A01; 45M05; 37N25

## 1. Introduction

Nonlinear evolution equations have recently been proposed for the modeling of complex phenomena in biology, vehicular traffic, crowds and swarms dynamics, microgrid composed of sources of energy, see the books [1,2]. The existence and uniqueness of solutions and their numerical simulations have been the target of multidisciplinary research activity [3]. In particular, in mathematical physics, important research activity has been focused on the existence and analysis of self-similar solutions, e.g., a solution may be obtained from another solution by the result of a uniform scaling (enlarging or shrinking).

A self-similar solution in fluid dynamics is a form of solution which is similar to itself if the independent and dependent variables are appropriately scaled [4-6]. This type of solution is also called a self-similar solution of the first kind [7]; indeed, the self-similar solution of the second kind exists which cannot be derived from dimensional analysis, see [8-10]. The most important investigations of self-similar solutions in mathematical physics date back to the classical Boltzmann equation [11], see, among others [12-14] and for the self-similar asymptotics the papers [15-18].

This paper aims at proving the existence of a class of self-similar solutions for the thermostatted kinetic theory for active particles, which has been proposed in the last decade for the modeling of complex systems subjected to an external force field. According to this theory, the complex system is divided into different subsystems, called functional subsystems, composed of particles expressing the same strategy, called activity. The evolution equations of each functional subsystem is obtained by balancing, into the elementary volume of the microscopic states, the inlet and outlet flows of active particles. The interested
reader is referred to papers [19-22] for the theoretical results and to papers [23,24] for the recent applications.

This paper is devoted to the existence of self-similar solutions of a mathematical framework of the thermostatted kinetic theory. Specifically the framework is assumed to be homogeneous with respect to the space and velocity variables; the interactions are assumed to be conservative (conservation of the density and the activation energy), the activity domain is assumed to be unbounded and more precisely the whole real line. In particular, the initial boundary value problem is defined and the existence and uniqueness of the solution is first investigated. The self-similar solutions of the initial boundary value problem are investigated by employing the Fourier transform method. The main result consists of the proof of the theorem of the existence of self-similar solutions and asymptotic self-similar solutions are also investigated.

It is worth stressing that the self-similar solutions are investigated for both constant and nonconstant interaction rates and external force fields. This is a generalization with respect to the previous published papers where the roles of the interaction rates and the force field have always been assumed to be constants, see [22].

The contents of the present paper are organized into five more sections which follow this introduction. Specifically, Section 2 deals with the thermostatted kinetic theory and the related stationary problem; Section 3 is devoted to the initial boundary value problem and the existence and uniqueness of the solution. The existence of self-similar solutions are investigated in Sections 4 and 5, where the analysis is performed in the case of constant and nonconstant interaction rates and force fields, respectively. Conclusions and perspectives are postponed to Section 6.

## 2. The Thermostatted Kinetic Theory for an Unbounded Activity Domain

This section briefly reviews the main elements of the thermostatted kinetic theory for a complex system described by a distribution function $f=f(t, u):\left[0,+\infty\left[\times \mathbb{R} \rightarrow \mathbb{R}^{+}\right.\right.$, where $u$ denotes the activity variable which models the strategy of the particles composing the system and it is assumed to take values in an unbounded domain, and specifically $\mathbb{R}$. Let $\mathcal{A}\left(u_{*}, u^{*}, u\right): \mathbb{R} \times \mathbb{R} \times \mathbb{R} \rightarrow \mathbb{R}^{+}, \eta\left(u_{*}, u^{*}\right): \mathbb{R} \times \mathbb{R} \rightarrow \mathbb{R}^{+}$, and $F(u): \mathbb{R} \rightarrow \mathbb{R}^{+}, f$ is the solution of the following partial integro-differential equation with quadratic nonlinearity:

$$
\begin{equation*}
\partial_{t} f(t, u)+T_{F}[f](t, u)=J[f](t, u), \tag{1}
\end{equation*}
$$

where

- $J[f](t, u)=G[f](t, u)-L[f](t, u)$ models the net flux of particles (gain $G$ and loss $L$ ):

$$
\begin{gathered}
G[f](t, u)=\int_{\mathbb{R} \times \mathbb{R}} \eta\left(u_{*}, u^{*}\right) \mathcal{A}\left(u_{*}, u^{*}, u\right) f\left(t, u_{*}\right) f\left(t, u^{*}\right) d u_{*} d u^{*}, \\
L[f](t, u)=f(t, u) \int_{\mathbb{R}} \eta\left(u_{*}, u^{*}\right) f\left(t, u^{*}\right) d u^{*},
\end{gathered}
$$

- $T_{F}[f](t, u)$ defines the following thermostat term (according to [25,26]):

$$
T_{F}[f](t, u)=\partial_{u}\left(\left(F(u)-u \int_{\mathbb{R}} u F(u) f(t, u) d u\right) f(t, u)\right)
$$

which allows us to keep constant the activation energy [19]:

$$
\mathbb{E}_{2}[f]=\int_{\mathbb{R}} u^{2} f(t, u) d u
$$

Assume that

$$
\begin{aligned}
& \eta\left(u_{*}, u^{*}\right)=\eta>0, \quad \forall u_{*}, u^{*} \in \mathbb{R}, \\
& F(u)=F>0, \quad \forall u \in \mathbb{R},
\end{aligned}
$$

then the mathematical framework (1) can be rewritten as follows:

$$
\begin{align*}
& \partial_{t} f(t, u)+F \partial_{u}\left(\left(1-u \mathbb{E}_{1}[f](t)\right) f(t, u)\right)= \\
& \quad \int_{\mathbb{R} \times \mathbb{R}} \eta \mathcal{A}\left(u_{*}, u^{*}, u\right) f\left(t, u_{*}\right) f\left(t, u^{*}\right) d u_{*} d u^{*}-\eta f(t, u) \mathbb{E}_{0}[f](t), \tag{2}
\end{align*}
$$

where

$$
\mathbb{E}_{0}[f](t)=\int_{\mathbb{R}} f(t, u) d u, \quad \mathbb{E}_{1}[f](t)=\int_{\mathbb{R}} u f(t, u) d u
$$

The mathematical framework is conservative, indeed $\mathbb{E}_{0}[f](t)$ is constant. In what follows it is assumed that $\mathbb{E}_{0}[f](t)=1$, for $t>0$.

A nonequilibrium stationary solution of (2) is a function $g(u): \mathbb{R} \rightarrow \mathbb{R}^{+}$, which satisfies the related stationary problem:

$$
\begin{equation*}
J[g](u)-T_{F}[g](u)=0 . \tag{3}
\end{equation*}
$$

The existence of a positive stationary solution $g(u) \in C(\mathbb{R} \backslash\{\alpha\})$, with $\alpha=\frac{1}{\mathbb{E}_{1}[f]}$, of the stationary problem (3) has been proved in [27]. In particular, [21]:

$$
\mathbb{E}_{1}[f](t)=\int_{\mathbb{R}} u f(t, u) d u \xrightarrow{t \rightarrow+\infty} \mathbb{E}_{1}^{+}=\frac{-\eta+\sqrt{\eta^{2}+4 F^{2}}}{2 F} .
$$

## 3. The Initial Boundary Value Problem: Existence and Uniqueness

Let $f_{0}$ be a suitable function (initial data). The Initial Boundary Value Problem (IBVP) related to Equation (2) writes:

$$
\begin{cases}\partial_{t} f(t, u)+F \partial_{u}\left(\left(1-u \int_{\mathbb{R}} u f(t, u) d u\right) f(t, u)\right)=J(t, u) & (t, u) \in[0,+\infty[\times \mathbb{R}  \tag{4}\\ f(0, u)=f_{0}(u) & u \in \mathbb{R} \\ \lim _{|u| \rightarrow+\infty} f(t, u)=0 . & \end{cases}
$$

Let $\mathcal{K}\left(D_{u}\right)=\left\{f=f(t, u):\left[0,+\infty\left[\times D_{u} \rightarrow \mathbb{R}^{+}, f(t, u) \in C\left(\left[0,+\infty\left[; L^{1}\left(D_{u}\right)\right): \mathbb{E}_{0}[f](t)=\right.\right.\right.\right.\right.$ $\left.\mathbb{E}_{2}[f](t)=1\right\}$. The following theorem holds true:

Theorem 1. Assume that:
(i) $\mathcal{A}\left(u_{*}, u^{*}, u\right) f\left(t, u_{*}\right) f\left(t, u^{*}\right)$ is an integrable function with respect to the elementary measure $d u_{*} d u^{*}$;
(ii) $\int_{\mathbb{R}} \mathcal{A}\left(u_{*}, u^{*}, u\right) d u=1$, for all $u_{*}, u^{*} \in \mathbb{R}$;
(iii) $\int_{\mathbb{R}} u^{2} \mathcal{A}\left(u_{*}, u^{*}, u\right) d u=u_{*}^{2}$, for all $u_{*}, u^{*} \in \mathbb{R}$;
(iv) $\int_{\mathbb{R}} u \mathcal{A}\left(u_{*}, u^{*}, u\right) d u=0$, for all $u_{*}, u^{*} \in \mathbb{R}$;
(v) $f_{0}(u) \in L^{1}\left(D_{u}\right)$;
(vi) $\int_{\mathbb{R}} f_{0}(u) d u=\int_{\mathbb{R}} u^{2} f_{0}(u) d u=1$.

Then there exists a unique function $f \in \mathcal{K}(\mathbb{R})$, which is a solution of the IBVP (4). Moreover the solution depends continuously on the initial data $f_{0}$.

Proof. Firstly, assume that $D_{u}=[-a, a], a>0$. The existence and uniqueness of the solution $f(t, u) \in \mathcal{K}\left(D_{u}\right)$ of the IBVP:

$$
\begin{cases}\partial_{t} f(t, u)+F \partial_{u}\left(\left(1-u \int_{D_{u}} u f(t, u) d u\right) f(t, u)\right)=J[f](t, u) & (t, u) \in\left[0,+\infty\left[\times D_{u}\right.\right.  \tag{5}\\ f(0, u)=f_{0}(u) & u \in D_{u} \\ f(t, u)=0 & u \in \partial D_{u}\end{cases}
$$

has been proved in [28] under the assumptions $(i)-(i i i)$, and the continuous dependence with respect to the initial data $f_{0}(u)$ has been gained in [29]. Accordingly, for every $R>0$, there exists a unique solution of the IBVP (5) for $\left.D_{u}=\right]-R, R\left[\right.$. Let $\varphi_{R}(u)$ be the following cut-off function:

$$
\varphi_{R}(u):= \begin{cases}1 & u \in]-R, R[  \tag{6}\\ 0 & \text { otherwise } .\end{cases}
$$

Multiplying the two sides of the (5) ${ }_{1}$ by $\varphi_{R}(u)$, the IBVP (4) is restricted to $[-R, R], R \in \mathbb{N}$. That is, $f_{R}(t, u)=0$ for $|u|=R$ (i.e., on the boundary of $\left.[-R, R]\right)$. This is reasonable since it is required that $f \in L^{1}\left(D_{u}\right)$. Then there exists a unique function $f_{R}(t, u) \in \mathcal{K}(]-R, R[)$ solution of the restricted problem. Let $R_{2}>R_{1}>0$, and $f_{R_{1}}(t, u)$ the solution related to $]-R_{1}, R_{1}\left[\right.$ and $f_{R_{2}}(t, u)$ the solution related to $]-R_{2}, R_{2}[$. By using the uniqueness, it follows, for $t>0$ :

$$
f_{R_{1}}(t, u)=f_{R_{2}}(t, u) \quad|u|<R_{1} .
$$

Indeed in the set $|u|<R_{1}$ one has:

$$
\varphi_{R_{1}}(u)=\varphi_{R_{2}}(u),
$$

and then

$$
f_{R_{1}}(t, u)=\varphi_{R_{1}}(u) f(t, u)=\varphi_{R_{2}}(u) f(t, u)=f_{R_{2}}(t, u), \quad t>0
$$

For every $R>0$,

$$
\mathbb{E}_{0}\left[f_{R}\right](t)=\int_{\mathbb{R}} f_{R}(t, u) d u=\int_{[-R, R]} f_{R}(t, u) d u
$$

is a monotone sequence of $R$ since

$$
\int_{\mathbb{R}} f_{R_{2}} d u \geq \int_{\mathbb{R}} f_{R_{1}} d u
$$

for $R_{2} \geq R_{1}$. Then it admits a limit $l \in \mathbb{R}$, i.e.,

$$
\mathbb{E}_{0}\left[f_{R}\right](t)=\int_{[-R, R]} f_{R}(t, u) d u \xrightarrow{R \rightarrow \infty} l
$$

It is necessary to prove that there exists a function $f(t, u) \in L^{1}(\mathbb{R})$ such that:

$$
l=\int_{\mathbb{R}} f(t, u) d u
$$

In order to prove it, observe that there exists $f(t, u) \in L^{1}(\mathbb{R})$ :

$$
\begin{equation*}
\mathbb{E}_{0}\left[f_{R}\right](t)=\int_{[-R, R]} f_{R}(t, u) d u=\int_{[-R, R]} \varphi_{R}(u) f(t, u) \tag{7}
\end{equation*}
$$

Indeed, if $R_{2}>R_{1}>0$, since $f_{R_{1}}(t, u)=f_{R_{2}}(t, u)$, for $|u| \leq R_{1}$, we have that:

$$
\varphi_{R_{1}}(u) f_{1}(t, u)=f_{R_{1}}(t, u)=f_{R_{2}}(t, u)=\varphi_{R_{2}}(u) f_{2}(t, u),
$$

and then

$$
f_{1}(t, u)=f_{2}(t, u), \quad|u| \leq R_{1} .
$$

By passing to the limit, as $R$ goes to infinity, into the (7), one has:

$$
\mathbb{E}_{0}\left[f_{R}\right](t)=\int_{[-R, R]} f_{R}(t, u) d u \xrightarrow{R \rightarrow \infty} \int_{\mathbb{R}} f(t, u) d u
$$

The existence of a solution $f(t, u) \in \mathcal{K}(\mathbb{R})$ of the IBVP (4) is thus gained.
The uniqueness has to be proved. Let $f_{1}(t, u)$ and $f_{2}(t, u)$ be two of the solutions of $(5)_{1}$ in the space $\mathcal{K}(\mathbb{R})$, the following quantity has to be estimated:

$$
\int_{\mathbb{R}}\left|f_{1}(t, u)-f_{2}(t, u)\right| d u
$$

By using the cut-off function $\varphi_{R}(u)$, for every $R>0$, the following functions can be considered:

$$
\begin{aligned}
f_{1 R}(t, u) & :=\varphi_{R}(u) f_{1}(t, u) \\
f_{2 R}(t, u) & :=\varphi_{R}(u) f_{2}(t, u)
\end{aligned}
$$

By uniqueness in the bounded domain $D_{u}=[-R, R]$, it follows that:

$$
\begin{equation*}
\int_{[-R, R]}\left|f_{1 R}(t, u)-f_{2 R}(t, u)\right| d u=0, \quad \forall R>0 \tag{8}
\end{equation*}
$$

By using the continuity of the norm and passing to the limit, as $R$ goes to infinity, in the (8), one has:

$$
\begin{equation*}
0=\int_{[-R, R]}\left|f_{1 R}(t, u)-f_{2 R}(t, u)\right| d u \xrightarrow{R \rightarrow \infty} \int_{\mathbb{R}}\left|f_{1}(t, u)-f_{2}(t, u)\right| d u . \tag{9}
\end{equation*}
$$

Then,

$$
\int_{\mathbb{R}}\left|f_{1}(t, u)-f_{2}(t, u)\right| d u=0,
$$

and the uniqueness of the solution of the IBVP (4) is thus gained.
Finally, by improving the technique of [29] for the bounded case $D_{u}=[-R, R]$, the continuous dependence on the initial data for the framework (4) can be gained.

As a matter of fact, assume that:

$$
\left\|f_{1}^{0}(u)-f_{2}^{0}(u)\right\|_{L^{1}\left(D_{u}\right)} \leq \delta,
$$

for $\delta>0$. There exist $f_{1}(t, u), f_{2}(t, u) \in \mathcal{K}(\mathbb{R})$ solutions of the problem (5) with initial data, respectively, $f_{1}^{0}$ and $f_{2}^{0}$. Then,

$$
\begin{align*}
f_{1}(t, u)-f_{2}(t, u) & =\left(f_{1}^{0}(u)-f_{2}^{0}(u)\right) \\
& +\int_{0}^{t}\left(J\left[f_{1}, f_{1}\right](\tau, u)-J\left[f_{2}, f_{2}\right](\tau, u)\right) d \tau \\
& +F \int_{0}^{t} \partial_{u}\left(\left(1-u \mathbb{E}_{1}\left[f_{2}\right](\tau)\right) f_{2}(\tau, u)\right) d \tau  \tag{10}\\
& -F \int_{0}^{t} \partial_{u}\left(\left(1-u \mathbb{E}_{1}\left[f_{1}\right](\tau)\right) f_{1}(\tau, u)\right), d \tau
\end{align*}
$$

By estimating the terms of the right-hand side of the (10) one has:

$$
\begin{align*}
& \int_{D_{u}}\left|f_{1}(t, u)-f_{2}(t, u)\right| d u \leq \delta \\
& +2 \eta \int_{0}^{t}\left(\int_{D_{u}}\left|f_{2}(\tau, u)-f_{1}(\tau, u)\right| d u\right) d \tau \\
& +\eta \int_{0}^{t}\left(\int_{D_{u}}\left|f_{2}(\tau, u)-f_{1}(\tau, u)\right| d u\right) d \tau  \tag{11}\\
& +2 F\left(C(\eta, F)+\mathbb{E}_{1}^{+}\right) \int_{0}^{t}\left(\int_{D_{u}}\left|f_{2}(\tau, u)-f_{1}(\tau, u)\right| d u\right) d \tau
\end{align*}
$$

By reordering the the terms of this last relation and using the constant

$$
\bar{C}:=\left(3 \eta+2 F\left(C(\eta, F)+\mathbb{E}_{1}^{+}\right)\right),
$$

we get

$$
\begin{align*}
& \int_{D_{u}}\left|f_{1}(t, u)-f_{2}(t, u)\right| d u \\
& \leq \delta+\bar{C} \int_{0}^{t}\left(\int_{D_{u}}\left|f_{2}(\tau, u)-f_{1}(\tau, u)\right| d u\right) d \tau \tag{12}
\end{align*}
$$

Finally, the Gronwall inequality [30] and inequality (12) yield

$$
\begin{equation*}
\int_{D_{u}}\left|f_{1}(t, u)-f_{2}(t, u)\right| d u \leq \delta e^{\bar{C} t} \tag{13}
\end{equation*}
$$

for all $t>0$, so that, for $T>0$,

$$
\max _{t \in[0, T]}\left(\int_{D_{u}}\left|f_{1}(t, u)-f_{2}(t, u)\right| d u\right) \leq \delta e^{\bar{C} t}
$$

and our claim is proved.

## 4. Existence of a Class of Self-Similar Solutions

Let $\lambda>0$ and $f_{\lambda}(t, u)$ be the scaled solution of the framework (1):

$$
\begin{equation*}
f_{\lambda}(t, u):=f\left(t, \frac{u}{\lambda}\right) . \tag{14}
\end{equation*}
$$

Let $f(t, u)$ be the solution of Equation (1) and $\hat{f}(t, k)$ its Fourier transform defined as follows:

$$
\begin{equation*}
\hat{f}(t, k)=\int_{\mathbb{R}} f(t, u) e^{-2 \pi i k u} d u, \quad k \in \mathbb{R} \tag{15}
\end{equation*}
$$

and $\hat{g}(k)$ the Fourier transform of $g(u)$ (solution of the related nonequilibrium stationary problem)

$$
\begin{equation*}
\hat{g}(k)=\int_{\mathbb{R}} g(u) e^{-2 \pi i k u} d u, \quad k \in \mathbb{R} \tag{16}
\end{equation*}
$$

In [21] the following result has been proved:

$$
|\hat{f}(t, k)-\hat{g}(k)| \leq\left(|k|^{2+p}+|k|\right) e^{-\frac{\sqrt{\eta^{2}+4 F^{2}}}{F} t}
$$

Specifically, $\hat{f}(t, k)$ converges exponentially fast, as $t \rightarrow+\infty$, to $\hat{g}(k)$.
The Fourier transform of the Equation (1) writes as follows:

$$
\begin{equation*}
\partial_{t} \hat{f}(t, k)+2 \pi i k F \hat{f}(t, k)+F k \mathbb{E}_{1}[f](t) \partial_{k} \hat{f}(t, k)+\eta \hat{f}(t, k)=\hat{G}[\hat{f}], \tag{17}
\end{equation*}
$$

where

$$
\hat{G}[\hat{f}]=\int_{\mathbb{R}} \hat{f}(t, k \alpha(u)) * \hat{\mathcal{A}}\left(u_{*}, u^{*}, u\right) * \hat{f}(t, k \beta(u)) d u
$$

and $*$ denotes the convolution product. Specifically, the state $u$ is assumed to be a linear combination of $u_{*}$ and $u^{*}$ and then

$$
u=\alpha(u) u_{*}+\beta(u) u^{*}
$$

The following result is the main aim of the present paper.
Theorem 2. Let the assumptions (i), (ii), (iii) hold true. Then there exists a solution of the problem (4), such that:

$$
\begin{equation*}
\hat{f}_{\lambda}(t, k)=\lambda \hat{f}(t, \lambda k) \quad k \in \mathbb{R}, \quad \lambda>0 \tag{18}
\end{equation*}
$$

Moreover, if the initial data $f_{0}(u)$ is self-similar, i.e., $f_{0}(u)=f_{0}(|u|)$, and there exists $\alpha>1$ such that

$$
\hat{f}_{\lambda}(t, \lambda k)=o\left(\frac{1}{\lambda^{\alpha}}\right), \quad \lambda \rightarrow+\infty
$$

then there exists an asymptotic self-similar solution $\gamma(|k|)$ such that:

$$
\begin{equation*}
\hat{f}_{\lambda}(t, k) \xrightarrow{t \rightarrow+\infty} \gamma(|k|) . \tag{19}
\end{equation*}
$$

Proof. Let $f(t, u) \in \mathcal{K}(\mathbb{R})$ be the solution of the $\operatorname{IBVP}(4), \psi(t, u) \in \mathcal{K}(\mathbb{R})$ and $\lambda>0$. Let $S[\psi](t, k)$ and $Z[\psi, \lambda](t, k)$ be the following operators:

$$
\begin{align*}
S[\psi](t, k) & :=\int_{\mathbb{R}} \psi(u) e^{-2 \pi i k u} d u,  \tag{20}\\
Z[\psi, \lambda](t, k) & :=\int_{\mathbb{R}} \psi\left(\frac{u}{\lambda}\right) e^{-2 \pi i k u} d u . \tag{21}
\end{align*}
$$

By using the (20), one has:

$$
S[f](t, k)=\hat{f}(t, k)
$$

which solves Equation (17).
Let $f(t, u)$ be the solution of (4). Bearing the expression of $f_{\lambda}(t, u)$ in mind, the (21) rewrites:

$$
Z[f, \lambda](t, k)=\int_{\mathbb{R}} f\left(t, \frac{u}{\lambda}\right) e^{-2 \pi i k u} d u=\int_{\mathbb{R}} f_{\lambda}(t, u) e^{-2 \pi i k u} d u=\hat{f}_{\lambda}(t, k)
$$

One observes that $\hat{f}_{\lambda}(t, k)$ is the solution of the Fourier transform of the rescaled Equation (1). Specifically:

$$
\begin{align*}
\int_{\mathbb{R}} \partial_{t} f_{\lambda}(t, u) e^{-2 \pi i k u} d u & +\int_{\mathbb{R}} \partial_{u}\left(F\left(1-u \mathbb{E}_{1}[f](t)\right) f_{\lambda}(t, u)\right) e^{-2 \pi i k u} d u \\
& =\int_{\mathbb{R}} J\left[f_{\lambda}\right](t, u) e^{-2 \pi i k u} d u . \tag{22}
\end{align*}
$$

The first term on the right hand side of the (22) writes:

$$
\begin{equation*}
\int_{\mathbb{R}} \partial_{t} f_{\lambda}(t, u) e^{-2 \pi i k u} d u=\partial_{t} \hat{f}_{\lambda}(t, k) \tag{23}
\end{equation*}
$$

By straightforward calculations, the second term of the right hand side of the Equation (22) rewrites:

$$
\begin{align*}
\int_{\mathbb{R}} \partial_{u} & \left(F\left(1-u \mathbb{E}_{[f]}(t)\right) f\left(t, \frac{u}{\lambda}\right)\right) e^{-2 \pi i k u} d u \\
& =F \int_{\mathbb{R}} \partial_{u}\left(\left(1-u \mathbb{E}_{1}[f](t)\right) f\left(t, \frac{u}{\lambda}\right)\right) e^{-2 \pi i k u} d u \\
& =-F \int_{\mathbb{R}}\left(1-u \mathbb{E}_{1}[f](t)\right) f\left(t, \frac{u}{\lambda}\right)\left(-2 \pi i \frac{k}{\lambda}\right) e^{-2 \pi i k u} d u  \tag{24}\\
& =(2 \pi i k) F \int_{\mathbb{R}}\left(1-u \mathbb{E}_{1}[f](t)\right) f\left(t, \frac{u}{\lambda}\right) e^{-2 \pi i k u} d u \\
& =2 \pi i k F \hat{f}_{\lambda}(t, k)-2 \pi i k F \mathbb{E}_{1}[f](t) \int_{\mathbb{R}} u f\left(t, \frac{u}{\lambda}\right) e^{-2 \pi i k u} d u .
\end{align*}
$$

The last term of the right hand side of the (24) rewrites:

$$
\begin{align*}
-2 \pi i k F \mathbb{E}_{1}[f](t) \int_{\mathbb{R}} u f\left(t, \frac{u}{\lambda}\right) e^{-2 \pi i k u} d u & =-F k \mathbb{E}_{1}[f](t) \int_{\mathbb{R}}(2 \pi i u) f\left(t, \frac{u}{\lambda}\right) e^{-2 \pi i k u} d u \\
& =F k \mathbb{E}_{1}[f](t) \int_{\mathbb{R}} f\left(t, \frac{u}{\lambda}\right) \partial_{k}\left(e^{-2 \pi i k u}\right) d u  \tag{25}\\
& =F k \mathbb{E}_{1}[f](t) \partial_{k} \hat{f}_{\lambda}(t, k)
\end{align*}
$$

By using the (25), the (24) rewrites:

$$
\begin{equation*}
\int_{\mathbb{R}} \partial_{u}\left(F\left(1-u \mathbb{E}_{1}[f](t)\right) f\left(t, \frac{u}{\lambda}\right)\right) e^{-2 \pi i k u} d u=2 \pi i k F \hat{f}_{\lambda}(t, k)+F k \mathbb{E}_{1}[f](t) \partial_{k} \hat{f}_{\lambda}(t, k) \tag{26}
\end{equation*}
$$

The right hand side of the (22) rewrites:

$$
\begin{equation*}
\int_{\mathbb{R}} J\left[f_{\lambda}\right](t, u) e^{-2 \pi i k u} d u=\hat{G}\left[\hat{f_{\lambda}}\right](t, k)-\eta \hat{f_{\lambda}}(t, k) \tag{27}
\end{equation*}
$$

where

$$
\hat{G}\left[\hat{f}_{\lambda}\right](t, k):=\int_{\mathbb{R}} \hat{f}_{\lambda}(t, k \alpha(u)) * \hat{\mathcal{A}}(k \alpha(u), k \beta(u), u) * \hat{f}_{\lambda}(t, k \beta(u)) d u
$$

By using the (23), (26) and (27), the (22) rewrites:

$$
\begin{equation*}
\partial_{t} \hat{f}_{\lambda}(t, k)+2 \pi i k F \hat{f}_{\lambda}(t, k)+F k \mathbb{E}_{1}[f](t) \partial_{k} \hat{f}_{\lambda}(t, k)+\eta \hat{f}_{\lambda}(t, k)=\hat{G}\left[\hat{f}_{\lambda}\right](t, k) \tag{28}
\end{equation*}
$$

Accordingly ([21]), $\hat{f}(t, k)$ is a solution of (4), and $\hat{f}_{\lambda}(t, k)$ is a solution (28). By using the (20) and the (21) and the change of variables $s=\frac{u}{\lambda}$, one has:

$$
\begin{align*}
Z[f, \lambda](t, k) & =\hat{f}_{\lambda}(t, k) \\
& =\int_{\mathbb{R}} f\left(t, \frac{u}{\lambda}\right) e^{-2 \pi i k u} d u  \tag{29}\\
& =\lambda \int_{\mathbb{R}} f(t, s) e^{-2 \pi i \lambda k s} d s \\
& =\lambda \hat{f}(t, \lambda k)
\end{align*}
$$

then the first part of the proof is concluded.
Assume that the initial data $f_{0}(u)$ is self-similar, i.e., $f_{0}(u)=f_{0}(|u|)$. Bearing the expression of $\hat{f}$ in mind and (29), one has:

$$
\hat{f}_{\lambda}(t, k)=\frac{\hat{f}(t, \lambda k)}{\frac{1}{\lambda}}
$$

Since $\hat{f}(t, \lambda k)=o\left(\frac{1}{\lambda^{\alpha}}\right)$, for $\alpha>1$, as $\lambda \rightarrow+\infty$, then it follows:

$$
\begin{equation*}
\hat{f}_{\lambda}(t, k) \xrightarrow[\lambda \rightarrow+\infty]{t \rightarrow \pm \infty} 0 \tag{30}
\end{equation*}
$$

Then for $\lambda \rightarrow+\infty$, there exists a function $\chi(t, k)$ such that:

$$
\begin{equation*}
\hat{f}_{\lambda}(t, k)=\frac{1}{\lambda^{\alpha}} \chi(t, k) \tag{31}
\end{equation*}
$$

In particular (for $t=0$ ) by using the assumption on the self-similarity of $f_{0}(u)$, (31) rewrites:

$$
\begin{equation*}
\hat{f}_{\lambda}(0, k)=\frac{1}{\lambda^{\alpha}} \chi(0,|k|) \tag{32}
\end{equation*}
$$

By using the (32), there exists a function $\gamma(k)$, such that:

$$
\begin{equation*}
\hat{f}_{\lambda}(0, k)=\frac{c}{\lambda^{\alpha}} \gamma(|k|) \tag{33}
\end{equation*}
$$

where $c=\theta(0)$ is a positive constant and $\theta(t)$ is a positive time-dependent function.
By using the asymptotic behaviour (30) and the (33), it follows that, for $t \rightarrow \pm \infty$ and $\lambda \rightarrow+\infty$ :

$$
\begin{equation*}
\hat{f}_{\lambda}(t,|k|)=\frac{\theta(t)}{\lambda^{\alpha}} \gamma(|k|) \tag{34}
\end{equation*}
$$

The (33) is an asymptotic self-similar solution for Equation (4) and the proof is thus concluded.
Remark 1. By passing to the limit, as time goes to infinity, in the (28), one has:

$$
\begin{equation*}
\hat{g_{\lambda}}(k)=\lambda \hat{g}(\lambda k), \quad k \in \mathbb{R}, \tag{35}
\end{equation*}
$$

regardless of the choice of $\lambda$.
However, the function $\gamma(|k|)$ of Equation (19) of Theorem 2 can be seen as an asymptotic self-similar solution of the nonequilibrium stationary problem related to the framework (3).

## 5. The Nonconstant Interaction Rate-Force Field Case

This section deals with the asymptotic self-similar solution analysis for the thermostatted framework (1) for a nonconstant external force field and nonconstant interaction rate. Specifically, let $F(u): \mathbb{R} \rightarrow \mathbb{R}^{+}$be the external force field, and $\eta\left(u_{*}, u^{*}\right): \mathbb{R} \times \mathbb{R} \rightarrow \mathbb{R}^{+}$the interaction rate between the particle with state $u_{*}$ and the particle with state $u^{*}$. The related continuous thermostatted framework writes reads:

$$
\left\{\begin{array}{l}
\partial_{t} f(t, u)+\partial_{u}\left(\left(F(u)-u \int_{\mathbb{R}} u F(u) f(t, u) d u\right) f(t, u)\right)  \tag{36}\\
=\int_{\mathbb{R} \times \mathbb{R}} \eta\left(u_{*}, u^{*}\right) \mathcal{A}\left(u_{*}, u^{*}, u\right) f\left(t, u_{*}\right) f\left(t, u^{*}\right) d u_{*} d u^{*}-f(t, u) \int_{\mathbb{R}} \eta\left(u, u^{*}\right) f\left(t, u^{*}\right) d u^{*} . \\
\qquad(t, u) \in[0,+\infty[\times \mathbb{R} \\
f(0, u)=f_{0}(u) \\
\lim _{|u| \rightarrow \pm \infty} f(t, u)=0 .
\end{array}\right.
$$

The following weighted moment is defined:

$$
\mathbb{E}_{1}[f, F](t):=\int_{\mathbb{R}} u F(u) f(t, u) d u
$$

The main result of this section follows.

Theorem 3. Let $f(t, u)$ be a solution of the IBVP (36). Assume that:
(i) $f(t, u) \in C^{1}\left(\left[0,+\infty\left[; L^{1}(\mathbb{R})\right)\right.\right.$;
(ii) $\mathbb{E}_{1}[f, F](t)<+\infty$, for all $t>0$;
(iii) There exists $F>0$ such that $F(u) \leq F$, for all $u \in \mathbb{R}$;
(iv) There exists $\eta>0$ such that $\eta\left(u_{*}, u^{*}\right) \leq \eta$, for all $u_{*}, u^{*} \in \mathbb{R}$.

Then there exists an asymptotic self-similar solution of the Fourier Transform of (36).
Proof. Let

$$
\begin{equation*}
f_{\lambda}(t, u):=f\left(t, \frac{u}{\lambda}\right) . \tag{37}
\end{equation*}
$$

By applying the Fourier transform to Equation (36), the first term on the left-hand side reads:

$$
\begin{equation*}
\left.\partial_{t} f \hat{f} t, u\right)=\partial_{t} \hat{f}(t, k) \tag{38}
\end{equation*}
$$

By straightforward calculations, the thermostat term of the (36) is written as follows:

$$
\begin{align*}
& \int_{\mathbb{R}} \partial_{u}\left(\left(F(u)-u \int_{\mathbb{R}} u F(u) f(t, u) d u\right) f(t, u)\right) e^{-2 \pi i k u} d u \\
& =2 \pi i k\left[\int_{\mathbb{R}}\left(F(u)-u \mathbb{E}_{1}[f, F](t)\right) f(t, u) e^{-2 \pi i k u} d u\right] \\
& =2 \pi i k\left[\int_{\mathbb{R}}(F(u) f(t, u)) e^{-2 \pi i k u} d u-\int_{\mathbb{R}} \mathbb{E}_{1}[f, F](t) u f(t, u) e^{-2 \pi i k u} d u\right]  \tag{39}\\
& =2 \pi i k\left[\hat{f}(t, k) \star \hat{F}(k)-\mathbb{E}_{1}[f, F](t) \int_{\mathbb{R}} u f(t, u) e^{-2 \pi i k u} d u\right] .
\end{align*}
$$

Bearing the right hand side of (36) in mind, one has:

$$
\begin{align*}
& \int_{\mathbb{R}} \int_{\mathbb{R} \times \mathbb{R}} \eta\left(u_{*}, u^{*}\right) \mathcal{A}\left(u_{*}, u^{*}, u\right) f\left(t, u_{*}\right) f\left(t, u^{*}\right) e^{-2 \pi i k u} d u_{*} d u^{*} d u \\
& =\int_{\mathbb{R} \times \mathbb{R}} \eta\left(u_{*}, u^{*}\right) f\left(t, u_{*}\right) f\left(t, u^{*}\right)\left(\int_{\mathbb{R}} \mathcal{A}\left(u_{*}, u^{*}, u\right) e^{-2 \pi i k u} d u\right) d u_{*} d u^{*}  \tag{40}\\
& =\int_{\mathbb{R} \times \mathbb{R}} \eta\left(u_{*}, u^{*}\right) \hat{\mathcal{A}}\left(u_{*}, u^{*}, u\right) f\left(t, u_{*}\right) f\left(t, u^{*}\right) d u_{*} d u^{*},
\end{align*}
$$

and

$$
\begin{align*}
& \int_{\mathbb{R}} \int_{\mathbb{R}} f(t, u) \eta\left(u, u^{*}\right) f\left(t, u^{*}\right) e^{-2 \pi i k u} d u d u^{*} \\
& =\int_{\mathbb{R}} f\left(t, u^{*}\right)\left(\int_{\mathbb{R}} \eta\left(u, u^{*}\right) f(t, u) e^{-2 \pi i k u} d u\right) d u^{*} \tag{41}
\end{align*}
$$

By using the (38)-(41), Equation (36) rewrites:

$$
\begin{align*}
& \partial_{t} \hat{f}(t, k)+2 \pi i k\left[\hat{f}(t, k) \star \hat{F}(k)-\mathbb{E}_{1}[f, F](t) \int_{\mathbb{R}} u f(t, u) e^{-2 \pi i k u} d u\right] \\
& =\int_{\mathbb{R} \times \mathbb{R}} \eta\left(u_{*}, u^{*}\right) \hat{\mathcal{A}}\left(u_{*}, u^{*}, u\right) f\left(t, u_{*}\right) f\left(t, u^{*}\right) d u_{*} d u^{*}  \tag{42}\\
& -\int_{\mathbb{R}} f\left(t, u^{*}\right)\left(\int_{\mathbb{R}} \eta\left(u, u^{*}\right) f(t, u) e^{-2 \pi i k u} d u\right) d u^{*} .
\end{align*}
$$

By observing that:

$$
\hat{f}_{\lambda}(t, k)=\lambda \hat{f}(t, \lambda k)
$$

one has:

$$
\begin{equation*}
\partial_{t} \hat{f}_{\lambda}(t, k)=\lambda \partial_{t} \hat{f}(t, \lambda k) \tag{43}
\end{equation*}
$$

Straightforward calculations show that:

$$
\begin{align*}
\hat{f}_{\lambda}(t, k) \star \hat{F}_{\lambda}(k) & =\lambda \hat{f}(t, \lambda k) \star \lambda \hat{F}(k) \\
& =\lambda^{2} \hat{f}(t, \lambda k) \star \hat{F}(k) \tag{44}
\end{align*}
$$

and, by using the change of variables $\frac{u}{\lambda}=y$, one has:

$$
\begin{align*}
\mathbb{E}_{1}\left[f_{\lambda}, F_{\lambda}\right] \int_{\mathbb{R}} u f_{\lambda}(t, u) e^{-2 \pi i k u} d u & =\mathbb{E}_{1}\left[f_{\lambda}, F_{\lambda}\right] \lambda \int_{\mathbb{R}} y f(t, y) e^{-2 \pi i \lambda k y} d y  \tag{45}\\
& =\mathbb{E}_{1}\left[f_{\lambda}, F_{\lambda}\right] \lambda u f(t, u)(t, k)
\end{align*}
$$

Let us consider the scaled version of the right-hand side of the (42).One has:

$$
\begin{equation*}
\int_{\mathbb{R} \times \mathbb{R}} \eta\left(\frac{u_{*}}{\lambda}, \frac{u^{*}}{\lambda}\right) \hat{\mathcal{A}}_{\lambda}\left(\frac{u_{*}}{\lambda}, \frac{u^{*}}{\lambda}, k\right) f\left(t, \frac{u_{*}}{\lambda}\right) f\left(t, \frac{u^{*}}{\lambda}\right) d u_{*} d u^{*} . \tag{46}
\end{equation*}
$$

By using the following change of coordinates:

$$
\begin{aligned}
\frac{u_{*}}{\lambda} & =y \\
\frac{u^{*}}{\lambda} & =z
\end{aligned}
$$

the (46) is rewritten as follows:

$$
\begin{align*}
& \lambda^{2} \int_{\mathbb{R} \times \mathbb{R}} \eta\left(\lambda u_{*}, \lambda u^{*}\right) \hat{\mathcal{A}}_{\lambda}\left(\lambda u_{*}, \lambda u^{*}, k\right) f\left(t, \lambda u_{*}\right) f\left(t, \lambda u^{*}\right) d u_{*} d u^{*} \\
& =\lambda^{2} \int_{\mathbb{R} \times \mathbb{R}} \eta\left(\lambda u_{*}, \lambda u^{*}\right) \lambda \hat{\mathcal{A}}\left(\lambda u_{*}, \lambda u^{*}, \lambda k\right) f\left(t, \lambda u_{*}\right) f\left(t, \lambda u^{*}\right) d u_{*} d u^{*}  \tag{47}\\
& =\lambda^{3} \int_{\mathbb{R} \times \mathbb{R}} \eta\left(\lambda u_{*}, \lambda u^{*}\right) \hat{\mathcal{A}}\left(\lambda u_{*}, \lambda u^{*}, \lambda k\right) f\left(t, \lambda u_{*}\right) f\left(t, \lambda u^{*}\right) d u_{*} d u^{*} .
\end{align*}
$$

By using the same argument, one has:

$$
\begin{align*}
& \int_{\mathbb{R}} f\left(t, \frac{u^{*}}{\lambda}\right)\left(\int_{\mathbb{R}} \eta\left(\frac{u}{\lambda}, \frac{u^{*}}{\lambda}\right) f\left(t, \frac{u}{\lambda}\right) e^{-2 \pi i k u} d u\right) d u^{*} \\
& =\lambda \int_{\mathbb{R}} f\left(t, \lambda u^{*}\right)\left(\int_{\mathbb{R}} \eta\left(\frac{u}{\lambda}, \lambda u^{*}\right) f\left(t, \frac{u}{\lambda}\right) e^{-2 \pi i k u} d u\right) d u^{*}  \tag{48}\\
& =\lambda^{2} \int_{\mathbb{R}} f\left(t, \lambda u^{*}\right)\left(\int_{\mathbb{R}} \eta\left(\lambda u, \lambda u^{*}\right) f(t, \lambda u) e^{-2 \pi i k u} d u\right) d u^{*} .
\end{align*}
$$

By using the (43)-(45), (47) and the (48), it is possible to conclude that $\hat{f}_{\lambda}$ solves the following scaled equation:

$$
\begin{align*}
& \lambda \hat{f}(t, \lambda k)+2 \pi i k\left[\lambda^{2} \hat{f}(t, \lambda k) \star \hat{F}(\lambda k)-\mathbb{E}_{1}\left[f_{\lambda}, F_{\lambda}\right] \lambda \hat{u f(t, u)}(t, \lambda k)\right] \\
& =\lambda^{3} \int_{\mathbb{R} \times \mathbb{R}} \eta\left(\lambda u_{*}, \lambda u^{*}\right) \hat{\mathcal{A}}\left(\lambda u_{*}, \lambda u^{*}, \lambda k\right) f\left(t, \lambda u_{*}\right) f\left(t, \lambda u^{*}\right) d u_{*} d u^{*}  \tag{49}\\
& -\lambda^{2} \int_{\mathbb{R}} f\left(t, \lambda u^{*}\right)\left(\int_{\mathbb{R}} \eta\left(\lambda u, \lambda u^{*}\right) f(t, \lambda u) e^{-2 \pi i k u} d u\right) d u^{*} .
\end{align*}
$$

The Equation (50) is rewritten as follows:

$$
\begin{align*}
& \lambda \hat{f}(t, \lambda k) \\
& \left.=-2 \pi i k\left[\lambda^{2} \hat{f}(t, \lambda k) \star \hat{F}(\lambda k)-\mathbb{E}_{1}\left[f_{\lambda}, F_{\lambda}\right] \lambda u \widehat{f(t, u}\right)(t, \lambda k)\right] \\
& +\lambda^{3} \int_{\mathbb{R} \times \mathbb{R}} \eta\left(\lambda u_{*}, \lambda u^{*}\right) \hat{\mathcal{A}}\left(\lambda u_{*}, \lambda u^{*}, \lambda k\right) f\left(t, \lambda u_{*}\right) f\left(t, \lambda u^{*}\right) d u_{*} d u^{*}  \tag{50}\\
& -\lambda^{2} \int_{\mathbb{R}} f\left(t, \lambda u^{*}\right)\left(\int_{\mathbb{R}} \eta\left(\lambda u, \lambda u^{*}\right) f(t, \lambda u) e^{-2 \pi i k u} d u\right) d u^{*}
\end{align*}
$$

The asymptotic estimate of the terms on the right hand side of the (50) is the aim.
By using the previous regularity assumptions, as time $t$ goes to infinity, there exist four constants $\alpha, \beta, \gamma, \delta>0$ and four functions $R_{1}(t, k), R_{2}(t, k), R_{3}(t, k), R_{4}(t, k)$ such that:

$$
\begin{aligned}
& 2 \pi i k \lambda^{2} \hat{f}(t, \lambda k) \star \hat{F}(\lambda k)=\lambda^{\alpha} R_{1}(t, k), \\
& 2 \pi i k \mathbb{E}_{1}\left[f_{\lambda}, F_{\lambda}\right] \lambda u \widehat{u f(t, u)}(t, \lambda k)=\lambda^{\beta} R_{2}(t, k), \\
& \lambda^{3} \int_{\mathbb{R} \times \mathbb{R}} \eta\left(\lambda u_{*}, \lambda u^{*}\right) \hat{\mathcal{A}}\left(\lambda u_{*}, \lambda u^{*}, \lambda k\right) f\left(t, \lambda u_{*}\right) f\left(t, \lambda u^{*}\right) d u_{*} d u^{*}=\lambda^{\gamma} R_{3}(t, k), \\
& \lambda^{2} \int_{\mathbb{R}} f\left(t, \lambda u^{*}\right)\left(\int_{\mathbb{R}} \eta\left(\lambda u, \lambda u^{*}\right) f(t, \lambda u) e^{-2 \pi i k u} d u\right) d u^{*}=\lambda^{\delta} R_{4}(t, k) .
\end{aligned}
$$

Then, as times $t$ goes to infinity, (50) is rewritten as follows:

$$
\begin{equation*}
\lambda \hat{f}(t, \lambda k)=\lambda^{\alpha} R(t, k) \tag{51}
\end{equation*}
$$

where the positive constant $\alpha>0$ and the function $R(t, k)$ have been used with abuse of notation. By using the change of variables,

$$
\lambda k=\lambda e^{\theta t}
$$

for $\theta>0,(51)$ is rewritten as follows:

$$
\begin{equation*}
\lambda f\left(t, \lambda e^{\theta t}\right)=\lambda^{\alpha} \Phi(t) \tag{52}
\end{equation*}
$$

Bearing the scaling argument (37) in mind, one has:

$$
\begin{equation*}
\hat{f}_{\lambda}\left(t, e^{\theta t}\right)=\Phi(t) \tag{53}
\end{equation*}
$$

then the function $\Phi(t)$ is an asymptotic self-similar solution of the thermostatted framework (36).

## 6. Conclusions and Research Perspectives

The present paper can be considered a further generalization of the thermostatted kinetic theory proposed in [19]; indeed the activity domain is assumed to be the whole real line and the related initial-boundary-value problem is investigated. However, the main contribution of this paper is the definition and analysis of self-similar solutions whose existence is obtained by employing the Fourier transform method.

From the modeling point of view the variable $u \in \mathbb{R}$, called activity, describes the microscopic state of the particles of the system (active particles) and represents the strategy or function expressed by the particles: $\eta$ is the interaction rate; $\mathcal{A}\left(u_{*}, u^{*}, u\right)$ is the transition probability function, i.e., the probability that the active particle with state $u_{*}$ falls into the state $u$ after interacting with the active particle with state $u^{*}$, and $F$ denotes an external force field which acts on the system. The framework is thus proposed for the modeling of complex systems where the role of the interactions is at the basis of the emerging phenomena (see [31,32]).

From the perspective point of view, a further investigation would be the generalization of the results to a complex system composed by $n$ functional subsystems. Accordingly, the framework consists of $n$ partial-integro differential equations with quadratic nonlinearity and the thermostat term would also be modified. The introduction of space and velocity variables can also be pursued and consequently the analysis of self-similar solutions could be concerned with the other microscopic state variables.

The analysis presented in this paper can also be generalized to the case where the activity variable can attain discrete values and then for a discrete thermostatted kinetic theory [20].

The existence of all moments for the self-similar solution remains open and the results will be presented in due course.

Author Contributions: Formal analysis, C.B. and M.M.; Investigation, C.B. and M.M.; Supervision, C.B.; Writing-original draft, C.B. and M.M.; Writing-review \& editing, C.B. and M.M. All authors have read and agreed to the published version of the manuscript.

Funding: This research received no external funding.
Acknowledgments: M.M. acknowledges the support of GNFM (National Group of MathematicalPhysics) of INDAM (National Institute of Advanced Mathematics).

Conflicts of Interest: The authors declare no conflict of interest.

## References

1. Lumer, G. Evolution Equations and Their Applications in Physical and Life Sciences; CRC Press: Boca Raton, FL, USA, 2019.
2. Ndambomve, P. Evolution Equations and Applications: A Semigroup Approach; Lambert Academic Publishing: Chisinau, Moldova, 2012.
3. Argun, A.; Callegari, A.; Volpe, G. Simulation of Complex Systems; IOP Publishing Ltd.: Bristol, UK, 2021.
4. Sedov, L. Similarity and Dimensional Methods in Mechanics; CRC Press: Boca Raton, FL, USA, 1993.
5. Chen, P.; Xie, J. Self-similar solutions of the compressible flow in one-space dimension. J. Appl. Math. 2013, 2013, 194704.
6. Barna, I.F.; Bognár, G.; Hriczó, K. Self-similar analytic solution of the two-dimensional Navier-Stokes equation with a nonnewtonian type of viscosity. Math. Model. Anal. 2016, 21, 83-94. [CrossRef]
7. Barenblatt, G.I. Scaling, Self-Similarity, and Intermediate Asymptotics: Dimensional Analysis and Intermediate Asymptotics; Cambridge University Press: Cambridge, UK, 1996; Volume 14.
8. Weizsacker, C.F. Approximate representation of strong unsteady shock waves through homology solutions. Z. Naturforschung A 1954, 9, 269-275.
9. Barenblatt, G.I.; Zel'dovich, Y.B. Self-similar solutions as intermediate asymptotics. Annu. Rev. Fluid Mech. 1972, 4, $285-312$. [CrossRef]
10. Coenen, W.; Rajamanickam, P.; Weiss, A.D.; Sanchez, A.L.; Williams, F.A. Swirling flow induced by jets and plumes. Acta Mech. 2019, 230, 2221-2231. [CrossRef]
11. Cercignani, C. The Boltzmann Equation and Its Applications; Springer: New York, NY, USA, 1988.
12. Bobylev, A.V. One class of invariant solutions of the Boltzmann equation. DoSSR 1976, 231, 571-574.
13. Bobylev, A.V.; Cercignani, C. Exact eternal solutions of the Boltzmann equation. J. Stat. Phys. 2002, 106, 1019-1038. [CrossRef]
14. Bobylev, A.V.; Cercignani, C. Self-similar solutions of the Boltzmann equation and their applications. J. Stat. Phys. 2002, 106, 1039-1071. [CrossRef]
15. Bobylev, A.V.; Cercignani, C.; Toscani, G. Proof of an asymptotic property of self-similar solutions of the Boltzmann equation for granular materials. J. Stat. Phys. 2003, 111, 403-417. [CrossRef]
16. Bobylev, A.V.; Cercignani, C. Self-similar asymptotics for the Boltzmann equation with inelastic and elastic interactions. J. Stat. Phys. 2003, 110, 333-375. [CrossRef]
17. James, R.D.; Nota, A.; Velazquez, J.J.L. Self-similar profiles for homo-energetic solutions of the Boltzmann equation: Particle velocity distribution and entropy. Arch. Ration. Mech. Anal. 2019, 231, 787-843. [CrossRef]
18. Bobylev, A.V.; Nota, A.; Velazquez, J.L. Self-similar asymptotics for a modified Maxwell-Boltzmann equation in systems subject to deformations. Commun. Math. Phys. 2020, 380, 409-448. [CrossRef]
19. Bianca, C.; Ferrara, M.; Guerrini, L. High-order moments conservation in thermostatted kinetic models. J. Glob. Optim. 2014, 58, 389-404. [CrossRef]
20. Bianca, C.; Mogno, C. Qualitative analysis of a discrete thermostatted kinetic framework modeling complex adaptive systems. Commun. Nonlinear Sci. Numer. Simulat. 2018, 54, 221-232. [CrossRef]
21. Bianca, C.; Menale, M. On the convergence towards nonequilibrium stationary states in thermostatted kinetic models. Math. Methods Appl. Sci. 2019, 42, 6624-6634 [CrossRef]
22. Bianca, C.; Menale, M. Existence and uniqueness of the weak solution for a space-velocity thermostatted kinetic theory framework. Eur. Phys. J. Plus 2021, 136, 243. [CrossRef]
23. Bianca, C.; Brézin, L. Modeling the antigen recognition by B-cell and T-cell receptors through thermostatted kinetic theory methods. Int. J. Biomath. 2017, 10, 1750072. [CrossRef]
24. Bianca, C.; Mogno, C. Modelling pedestrian dynamics into a metro station by thermostatted kinetic theory methods. Math. Comput. Model. Dyn. Syst. 2018, 24, 207-235. [CrossRef]
25. Morriss, G.P.; Dettmann, C.P. Thermostats: Analysis and application, Chaos Interdiscip. J. Nonlinear Sci. 1998, 8, 321-336.
26. Jepps, O.G.; Rondoni, L. Deterministic thermostats, theories of nonequilibrium systems and parallels with the ergodic condition J. Phys. A Math. Theor. 2010, 43, 133001. [CrossRef]
27. Bianca, C. Existence of stationary solutions in kinetic models with Gaussian thermostats. Math. Methods Appl. Sci. 2013, 36, 1768-1775. [CrossRef]
28. Bianca, C. An existence and uniqueness theorem to the Cauchy problem for thermostatted-KTAP models. Int. J. Math. Anal. 2012, 6, 813-824.
29. Carbonaro, B.; Menale, M. Dependence on the initial data for the continuous thermostatted framework. Mathematics 2019, 7, 612. [CrossRef]
30. Walter, W. Differential and Integral Inequalities; Springer Science \& Business Media: Berlin/Heidelberg, Germany, 2012; Volume 55.
31. Bar-Yam, Y. Dynamics of Complex Systems, Studies in Nonlinearity; Westview Press: Boulder, CO, USA, 2003.
32. Nicolis, G.; Nicolis, C. Foundations of Complex Systems: Nonlinear Dynamics, Statistical Physics, Information and Prediction; World Scientific Publishing Co. Pte. Ltd.: Singapore, 2007.
